9A4H

9A11H8

9H18H

9H25H

LSD(FHE;ERAE) XiEHtiEHE

F)—L

27km (500" ~6" 00" /km)

Ja—Fv—]

27km (500" ~6" 30" /km)

FS—d/A

18km (5" 30" ~6" 30" /km)

F73—3/B

18km (6° 00" ~7"00"/km)

jog15~20km

FrLo

R—ZE

FU—L4

16km (3" 45" ~4" 00" /km) +ifiL

Ja—Fv—]

16km (4" 00" ~4"30"/km)

FS—d/A

14km (4" 30" ~5"00"/km)

73—3/B

14km (5" 00" ~5" 30" /km)

FrLoo

12km (5" 30" ~6"00"/km)

KESEZELIRBEZIEHE

ENETYT

FE 1y T 8—HYRL)

F—L

20km (6" 00" —3 45” /km)

Za—Fv—]

18km (6°00"—4"00"/km)

=—d/A

18km (6°00"—4" 30" /km)

=—3/B

16km (6° 00" —5"00"/km)

14km (7° 00" —6" 00" /km)

FrLoy

R—RE

F)—L4

30km (3" 45" ~4’ 00" /km) +FL

Za—Fv—]

30km (400" ~4" 30" /km)

FS—3/A

30km (4" 30" ~5700"/km)

F73—3/B

30km (500" ~5" 30" /km)

FrLoo

20km (5" 30" ~6" 00" /km)

X EEHRES (EEAR)

10A2H

10A9H

10H16H

108238

108308

LSD(FEZAAR/FENK)

F—L 36km (500" ~6"00"/km)

Za1—F+v—{36km (5’ 00" ~6" 30" /km)

F2—3/A [27km (5° 30" ~6 30" /km)

F2—3/B [27km (6’ 00" ~7 00" /km)

FrL>P |jog15~20km
XEHRIIVY

ENETYTE 1y T 2—HYEL)

R—L 20km (6’ 00" —3" 45" /km)

Za—F+v—{18km (6’ 00" —4’ 00" /km)

=—3/A [18km (6’ 00”—4’ 30" /km)

F72—3/B [16km (6’ 00”—5’ 00" /km)

FrL2Y [14km(7°00”—6’00"/km)

XFBLTAIZIY

R—RE/FYZXWAC

K—L 20km (3’ 45" ~4’ 00" /km) +iftL

Za1—Fv—{20km (4’ 00" ~4’ 30" /km)

S—3/A |18km (430" ~5 00" /km)

S—3/B |16km (5 00" ~5’ 30" /km)

FrL>P [14km (5’307 ~600"/km)

X

ENETYTE G192 T 2—HYEL)

R—L 20km (6’ 00”"—3’ 45” /km)

Za—Fv—{18km (6’ 00" —4’ 00" /km)

F7=—3/A [18km (6’ 00”—4’ 30" /km)

F7=—3/B [16km (6’ 00”—5" 00" /km)

FrL2Y [14km(7°00"—6’ 00" /km)

FRBTIATSIY

FU—L [F&ATavSU

Za—Fr—{(FERIITIVYY

S—3/A [FEBTIISYY

S—3/B [FEEFIIYSVY

FrLod (FEBIIISIY

XFEBIIRSYV/KEEMEBRISIY

11A6H

11A138

118208

11H278

LSD(FEAEAR/FENE)

F—L 36km (5’ 00" ~6"00"/km)

Za1—Fr—{36km (5’ 00" ~6" 30" /km)

F=—3/A [27km (5’ 30" ~6 30" /km)

=—3/B [27km (6’ 00" ~7 00" /km)

FrL>P |jog15~20km

XmIa—kFL—X

EES:E

RJ—L jog10~20km

Za1—F¥—|jog10~20km

S—3/A |jog10~20km

73—3/B |jog10~20km

FrL>Y |jog10~20km

XOKIEIZY /B EPOP/L\HLVF

R—ZE

K—L 24km (3" 45" ~4° 00" /km) +ifL|

Za1—Fr—{20km (4’ 00" ~4" 30" /km)

S—3/A [18km (4’30 ~5 00" /km)

S—3/B [16km (5’ 00" ~5 30" /km)

FrL>P [14km(5°30”~6"00"/km)

XEBITAN—D/FHRIVY

EIRZYTE (10T 8—HYSEL)

F—L 20km (6" 00" —3" 45" /km)

Za1—Fr—{18km (6’ 00" —4" 00" /km)

F=—3/A [18km (6’ 00”—4’ 30" /km)

F7=—3/B [16km (6’ 00”—5 00" /km)

FrL>P [14km(7°00”—6" 00" /km)

R—RE

0~10km=4’00"/10km~18km =3 45" /18km~3SRXk=21)—

L.S.D(F#E;ZAEME)
1BAB=7vy7MD>4t£YT=6"00"~5 30"/km
2 B =%(2=5"30"~5"00"/km
FAE=CChBhEE =5 30"~500"/km
4B =LoHAY&=500"~T)—/km
EBILR7YTE(Tavi T2 5—HYIEL)

12A48

128118

128188

128258

0~2km=6"00"~5"30"/km (It FEEBKETTvY)
2~11km=5"30"~5"00"/km (It FEEK~T1v 5 2—)
11~16km=4"00"/km (T4 Tt 3—MoFEBBRIBEET)

16~18km=3" 45" (FEBAREBMLEIEDM)

LSD(FEBEE/FENF)

F—L 36km (500" ~6" 00" /km)

Z1—F¥—[36km (5" 00" ~6" 30" /km)

F=—3/A [27km (5’ 30" ~6’ 30" /km)

F7=—3/B [27km (6’ 00" ~7 00" /km)

FrL>P |jog15~20km

XM EER/ =2 — N\ —N\FR/EEF/N—T

R—RE/FYXWAC

RF—L 24km (37 45" ~4’ 00" /km) +itL

Za1—F¥—{20km (4" 00" ~4" 30" /km)

S—3/A |18km (4" 30" ~5"00"/km)

7=—3/B [16km (5" 00" ~5"30"/km)

FrL>P [14km(5°30”~6"00"/km)

FOIATA—TY

F)—L _ [Frvlari—o>

Ta—FXAFXIATA—T>

S—3/A [FYI1T1—5>

S—3/B [F¥YI1T1—5>

Frloy [Frla4T4—5

XBEFEO—FL—X

LSD(FEEBFvLD)

R—L FEBFrL2I40km

2a—F¥—FEBFrL>I40km

72—d/A [FEBF YL 40km

72—d/B [FEBF¥L > 40km

FrL>P |jogl5~20km

XEEBF LD EVHD)

#H=LSD
F=RE—KEE
E=8T0BLEE
B=L—X ARk

REG (F)—L)

18~20km="21)—/km (KZEJIIDEDFHIDEKIEN ST —)



